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QUESTION 1

You want to use FCAP authentication in an environment with FOS 7.3 running switches with no extra licenses. What
should you do to use this feature?

A. Switches must be upgraded to FOS 7.4 or higher

B. Certificates must be obtained from Brocade

C. A Secure Fabric license must be added to all switches in the fabric
D. Certificates must be obtained from a third-party vendor

Correct Answer: D

QUESTION 2

A customer needs to replicate the data on their HPE 3PAR arrays between their datacenters. Their datacenters are
250km apart. The link between the sites has an RTO of 100 ms, and they have an RPO of 3 minutes. Which replication
method should you recommend to meet the customer needs?

A. RCIP is Synchronous mode

B. RCFC is Synchronous mode

C. RCIP in Asynchronous Streaming mode

D. RCFC in Asynchronous Periodic Mode

Correct Answer: D

QUESTION 3

For customers, what are the benefits of developing a company compliance policy? (Select two.)
A. reduced head count

B. minimized losses

C. improved security

D. improved agility

E. increased time to market

Correct Answer: BC
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QUESTION 4

A customer wants an HPE 3PAR array with about 400,000 IOPS and over 6000 MBs per second through ?put at 16K
block size. What should you consider in your design?

A. Focus the configuration on the effective capacity ratio rather than data reduction ratio

B. Adhere to the initiators per port, initiators per system, and fan-in/fan-out limits in SPOCK
C. Configure the HA-enclosure to protect against enclosure failure

D. Ensure that the write 10 service time on the array is under 2ms

Correct Answer: A

QUESTION 5

A customer has standardized on Windows Server. They need to ensure that application and storage will move between
sites as one during automated or manual failover. Which HPE 3PAR integrated solution should you recommend to the
customer as a preventative measure?

A. Peer Persistence

B. Serviceguard Metrocluster

C. Cluster Extension (CLX)

D. Site Recovery Manager

Correct Answer: C

Reference: https://tdhpe.techdata.eu/Documents/TDAS-
Integrated%20Systems/Technical%20White%20Paper_HPE%20ConvergedSystem%20700.pdf?epslanguage=en
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